T TEHEEARE

(HH-11) 1%

KK AR R
BEAR 1 Bl KB e L

X[H 10001

THE (&7)

EIKEARRE ¢ 350 HO. 80

NO 4/ 3k ~HE B g HAL EHEKX
1 EHERAEAER T - A B YRS (B k) DIPAi % T.=L=310
6 350 )= 310. 000 m
2 RYTFLLR)—THET A T=1=310
$ 350 g 310.000 m
3 R EWRT—T7 L B R T=L=310
6 350 )= 310. 000 m
4 Rk —MAR L IR L=1L=310
g 310. 000 m
5 A —h AR T=1=310
150mm X 50m & 2fZ 410 iAFx b= 310.000 m
6 EKEER WK RER=1L=310
g 310. 000 m
7 EHEERRUINT T AT 7V MR SR T T =A% = R R A N =310%2+0
15ecmPA T B 620.000 m
8 BRI IRL SRS T 7K AL B = (BlEEAE 40 I+ AL+ I BRD) *0. 023%
& 0.713 m3 &HEEE=(310%2+0)*0. 023*0. 05
9 AHIERBUELFGA BH0.20m3 AEERE A T =1 BB + I AN 5=310%0. 9+0
BHEEE10emA T B 279.000 m2
10 EFEERNEUELFGA BHO0.20m3 SRR A T =1 BexE + I AN H=310%0. 9+0
EAEIE10emLA T B 279.000 m2
11 EFK4EHE] BHO0.20m3 P THI=4E R+ lg+%E=310%0. 9%1. 22
g 340. 380 m3
12 FHEHI BHO0.20m3 R T GRERHE - JE10) =3E 5 A LIgEWaske A HxfE AT %=0. 5%
5 5.850 m3 0.9%0. 2%65
13 EEHEE (W E) BH0.20m3 B TUI=AE Fo#ig+E=310%0. 9%0. 77
Jysay R RE g 214.830 m3
14 B RE (kg ) BH0.20m3 PR T U2=4E R+ g i2=310%0. 9%0. 3
RC-40H R + & L\ [ 6D Ve 83.700 m3
15 ‘B E (W E) BH0.20m3 MR B T U4=FE Ko #ig+8=310%0. 9%0. 17
M-30H & + &> S5 [E 6 g 47.430 m3
16 ISR (MR &) BH0.20m3 PR T KRR - I530) =IE B A LxIEWas T A Hx (5 Frfk=0. 5%
Iyioay bR )= 5.850 m3 0.9%0. 265
17 EEERE BHER) BH0.20m3 R GPERR G ) =1E 48 Wrm FE=—1%310%0. 11
Jys oy R R g -34.100 m3
18 FREXPEEMALEL As BERA LSy (BEHIFR) =Rl A i FEe /5 X =279%0. 05
g 13.950 m3
19  ERPEFEWALIL As BEA AL S5 (S 1R =R A i Fiix 5 X =279%0. 03
)= 8.370 m3
20 PEBEALERIEHE BH0.20m3 DTr4t BERA T (PR I =Rl A Rk /S X =279%0. 05
AsHi - CoBfl (M%) 4.5km L B DID M J= 13.950 m3
21 FEFEAPLERE BH0.20m3 DTr4t BEAA T (S 1) =Rl i Fe /R X =279%0. 03
AsHll - Colifl (%) 4.5km A T DID4E & 8.370 m3
22  ZE&AEH BH0.20m3 DTrdt T 3B HR=H1 4> +H24> +ik IR 4Y e+ ) — 2% =340.
+# 10.0kmPL T DID#E )= 346.230 m3 38+0+5. 85+00
23 AREET (BEE-HJE) 3cml IS IH =4 F* g+ A I H=310%0. 9+0
FAEBRIEAs 771 2 279.000 m2
24  EiZET (HEE-HJE) Senl/E ARAE |H=4E K+ g+ E AR N B=310%0. 9+0
HEBRIEAs 7 T7145 )= 279. 000 m2




T TEHEEARE

(FHT-11) EKREMRELE (R7)

Fepr 1 BlKEAMR L

XM 15001 e T

NO b4,/ 3i#s -~k B g HAL EHEKX
1 ERAERRGINT TAT7AMEEE SHAEY) W T =525 AL R B« AR S+ N =8%2+8
15ecmPA T B 24.000 m
2 BRI IRAL SRR T 7K AL B = (BlEEAE 40 I+ AL+ I BRD) *0. 023%
& 0.028 m3 &hTE[E=(8%2+8)*0. 023%0. 05
3 AEEAREUELUADA BHO0.20m3 AEERE A T =1 BB + I AN =8%1+0
SEE 1 0em L T 2 8.000 m2
4 EREERNEUELAA BHO0.20m3 SRR T =1 FerE + T AN =8%1+0
EEEE 10em L T b 8.000 m2
5 EIHEEI] BHO0.20m3 PR THI=AE Eex@*i=8%1*1. 15
)= 9.200 m3
6 IR (B E) BHO.20m3 B T UL =4 * g 8=8% 11
RC-408 &+ Z o /3 [E D = 8.000 m3
7 E LR (B ) BHO0.20m3 PR B T U4=%E sl 78=8%1x0. 17
M-30H & + &> i [E 6 g 1.360 m3
§  RRIRFEIEMMLFE As BERA LSy (BEHITD) =l i FEk /5 X =8%0. 05
)= 0.400 m3
9 EERRBEEEMAEE As FERA AL Sy (A5 |H) =REeAe i Rk 5 & =8%0. 03
)= 0.240 m3
10 PEBEALEEIERE BH0.20m3 DTr4t BERA E My (PR D) =fl g i+ = < =8%0. 05
AsHi - CoBfl (M%) 4.5km L B DID J= 0.400 m3
11 PEPRALFEERE BH0.20m3 DTr4t BEAA T (S 1) =Rl A hi Rk X =8%0. 03
AsHil - Codifl (%) 4.5km A T DID4E & 0.240 m3
12 FAE5EHE BH0.20m3 DTrat B L ERR=H1 53 +H2 53 Hik TR PR 43 S+l ) —Hi 588 =9. 2+
+4#5 10.0kmLL F DID%E 2 9.200 m3 0+0+00
13 AfdE T (HEE-¥E)3cnl /@ IS IH =S F* g+ i A I Ri=8% 1+0
FAEBRIEAs 744 )= 8.000 m2
14 HfEET (EE-BE) 5en 8 ARAE |H=E Ko E+E A I R =8%1+0
HEBRIEAs 7 T74L P 8.000 m2




= Vvl
T TEHEEE H
(FHT-11) EKREMRELE (R7)
R 1 R KB L
XM 10002 FE/KAECE 01 ¢ 50 SSP HO.7 A=A
NO b4,/ 3i#s -~k B g HAL EHEKX
1 RNIZFLUE ATV AHE BT figg L=L=1
® 50 )= 1.000 m
2 Rk —MAR L R T=1=1
)= 1.000 m
3 AT —b AR T=L=1
150mm X 50m & 262410 iA Fx b= 1.000 m
4 EHIERRUINT T AT 7 VMRS SR YT T =52 4 = 8 AR B I = 15240
15emPL T B 2.000 m
5 BEERIGIRAL AL TR K LBl = (Bl EEAE B4 I+ A+ IR *0. 023+
b 0.002 m3 &%= (1%2+0)*0. 023%0. 04
6 ERLERNEUELAA BHO0.20m3 SRR A T =1 BexlE + I AN H =10, 6+0
EAEE10emLA T B 0.600 m2
7 AREEAREUELURDA BHO0.20m3 AEERE A T =1 BB + T A N =1%0. 6+0
AAEIE 1 0cm LA T Vs 0.600 m2
8 FIHEHI BHO0.20m3 JEHI TH2=4E F-xlE*E=1%0. 6%0. 81
)= 0.486 m3
9 EEME (B RE) BH0.20m3 PR B TU1=%E FexlE#8=1%0. 6%0. 45
Iioay R LR )= 0.270 m3
10 B R (kg ) BHO0.20m3 R TU2=4E F*E*4E=1%0. 6%0. 2
RC-40H R + & o\ [ 6D Ve 0.120 m3
11 ERHEE (B RE) BH0.20m3 P B T U4=%E sl 78=1%0. 6%0. 16
M-30H & + &> i [E 6 g 0.096 m3
12 B R (kg ) BHO0.20m3 PR BEPERR GOk &) =1L K48 Wi i FE=—1%1%0. 002
Iyioay bR g -0.002 m3
13 ERRBEFEMALEL As . BEAA ALy (R HIED) =Rl i FEe /R X =0. 6%0. 04
)= 0.024 m3
14 FERFEEMLI As BER LSy (A5 1E) =k A i FEk IS X =0. 6%0. 03
)= 0.018 m3
15 PEREALFLEME BH0.20m3 DTr4t BERA T (BRI =R e R+ /R X =0. 6%0. 04
AsHll - Codifl (%) 4.5km A T DID4E & 0.024 m3
16 PEPEALEEIERE BH0.20m3 DTr4t BEM TR (A8 1H) =R A= X =0. 6%0. 03
AsHi - CoBfl (M%) 4.5km L B DID M J= 0.018 m3
17  F/AE+5EME BHO0.20m3 DTr4t 7 - TEHR=H1 53 +H2 53 ik T 43 (S Hl d) —#it 48 =0+0.
18> 10.0kmLLF DIDE A 0.486 m3 486+0+00
18  EEET (B4E)3cml)E A8 |H=FE FHlig + I A N =1%0. 6+0
HEBRIEAs 7 T745 P 0.600 m2
19 &2 T (E) dem L E A IH=1E FHIE+ I AR N H=1%0. 6+0
BRI EAs I )= 0.600 m2




T TEHEEARE

BEAR 1 AR KB AR T

X[ 10003  FE/KELE02

(FHT-11) EKREMRELE (R7)

50 SSP HO.6 i

NO 4/ 3k ~HE B g HAL EHEKX
1 RVZFLAE AT UL AE Paft T figx T=L=1.3
® 50 )= 1.300 m
2 Rk —MAR L IR L=L=1. 3
)= 1.300 m
3 AT —b AR T=1=1.3
150mm X 50m,/ %  2f5470IA A L) 1.300 m
4 EREERREIMET T AT 7 VMR SRR T T =Hl 2 4 R PR AR B N B =1, 3%2+40
15emPL T B 2.600 m
5 BEERIGIRAL AL TR K AL BR= (Bl EEAE B4 I+ AL+ IR *0. 023%
b= 0.003 m3 Hf%E/E= (1. 3%2+0)*0. 023*0. 05
6 EESIREUELAEIA BHO0.20m3 S T =JE R hg+ T A N =1, 3%0. 6+0
EAEE10emLA T B 0.780 m2
7 REERUREELALA BHO.20m3 SRR T =HE S+ AR AN =1, 3%0. 6+0
AAEIE 1 0cm LA T Vs 0.780 m2
8 FIHEHI BHO0.20m3 P T H1=4E B iE*E=1. 3%0. 6%0. 7
)= 0.546 m3
9 EEME (B RE) BH0.20m3 HBE T UL =4 EesigZE=1. 3%0. 6%0. 45
Iyay R ER g 0.351 m3
10 B R (kg ) BHO0.20m3 R TU2=FE K *iE+i%E=1. 3%0. 6%0. 1
RC-40H R + & o\ [ 6D Ve 0.078 m3
11 BB E (M E) BH0.20m3 PR T U4=JE Rex gk i8=1. 3*%0. 6%0. 17
M-30H & + &> i [E 6 g 0.133 m3
12 EESHLA (BRI 52) BHO.20m3 HRRTHERR G ) =HiE o B T T A= 1% 1. 3%0. 002
Ivay R A -0.003  m3
13 FEFRPEEMLIE As BERT ALy (R A =k i AE+JE X =0. 78%0. 05
)= 0.039 m3
14 EFRFEIEME As B LSy (A5 1R =Tl A B X =0. 78+%0. 03
)= 0.023 m3
15 PEREALFLEME BH0.20m3 DTr4t BERA T (BE 10 =i R+ /R X =0. 78%0. 05
AsHll - Codifl (%) 4.5km A T DID4E & 0.039 m3
16 PFEREALEEM: BH0.20m3 DTr4t BERA T (15 1) =ik A FEe 5 X =0. 78%0. 03
AsHi - CoBfl (M%) 4.5km L B DID M J= 0.023 m3
17  F/AE+5EME BHO0.20m3 DTr4t 7 - R=H1 53 +H2 53 ik T AR 4y (IS +l i) — #0545 =0. 54
18> 10.0kmLLF DIDE A 0.546 m3 6+0+0+00
18 Ei¥ET (HE-HJE)3cnl)E IAE IH=E F+ g+ E A N =1, 3%0. 6+0
HEBRIEAs 7 T745 P 0.780 m2
19 &h%ET (HEE-¥E)5eml /& A IH=IE F+ig+ A I H=1. 3%0. 6+0
FAEBRIEAs 744 )= 0.780 m2




T TEHEEARE

(FHT-11) EKREMRELE (R7)

BEAR 1 AR KB AR T

X[ 10004 JKEEMEOL

25 PP HO.6 i

NO b4,/ 3i#s -~k B g HAL EHEKX
1 HERR —MAR T AR T=1=1.5
g 1.500 m
2 BEEERT—h IR T=1=1.5
150mm X 50m,// % 25 Hr0IAF» J= 1.500 m
3 GHEERREINT T AT 7 VM SRAEY) B =545 AT B PR H S« AR BN =1, 5%2+0
15emPL T )= 3.000 m
4 BEFRI5IRAL SRR T 7K AL B = (BlEEAE 40 I+ AL+ I BRD) *0. 023%
& 0.003 m3 &A= (1. 5%2+0)*0. 023*0. 05
5 AHLEAREUELURDA BHO0.20m3 AEERE A T =1 BB+ I A NS =1. 5%0. 6+0
AAEIE 1 0cm LA T Vs 0.900 m2
6 ERLERNEUELAA BHO0.20m3 SRS A T =1 BexlE+ AN EF=1. 5%0. 6+0
EAEE10emLA T B 0.900 m2
7 EIKHEEI] BHO0.20m3 PEH| THI=ZE R +ig+%E=1. 5%0. 6%0. 68
)= 0.612 m3
8 BB (FEhE I ) BHO.20m3 R TUL=E Rexfigx4e=1. 5%0. 6%0. 43
Tyiay AR g 0.387 m3
9 EEME (B R) BH0.20m3 H B T U2=4E FesgsE=1. 5%0. 6%0. 1
RC-40# & + & 7 5 [E g 0.090 m3
10 B R (kg ) BHO0.20m3 PR TUA=FE F*IE*4E=1. 5%0. 6%0. 17
M-30 & + & > 7 S [E o g 0.153 m3
11 EEERE R R) BH0.20m3 PR RAZERR CHTRR &) =4 Fox & Wi f=— 1% 1. 5%0. 001
Iyioay R LR )= -0.002 m3
12 EERBEEMALE As BEM ALy (HREES) =i i f = £ =0. 9%0. 05
)= 0.045 m3
13 EEERBEIEMMEL As BEA ALy (S 1) =Rl i FEe /R X =0. 9%0. 03
)= 0.027 m3
14 PEREALEEIERE BH0.20m3 DTr4t BERE My (PR HED) = i+ < =0. 9%0. 05
AsHi - CoBfl (M%) 4.5km L B DID M J= 0.045 m3
15 PEREALFLEME BH0.20m3 DTr4t BEAA T (AE 1) =Rl i Fe /R X =0. 9%0. 03
AsHll - Codifl (%) 4.5km A T DID4E & 0.027 m3
16 &4 5@ BHO0.20m3 DTrdt T B R=H1 45 +H2 45+ T4 45 (B +RI ) — i 545=0. 61
+4#5 10.0kmLL F DID%E B 0.612 m3 2+0+0+00
17 ST (HEE-#E)3cnl /@ A IH=4E F* g+ A I =1, 5%0. 6+0
BRI EAs I )= 0.900 m2
18 Ei%ET (HIE-HJE)Senl)E ARME IH=E F+ g+ EFE IR =1. 5%0. 6+0
HEBRIEAs 7 T745 P 0.900 m2




T TEHEEARE

(FHT-11) EKREMRELE (R7)

BEAR 1 AR KB AR T

X 11001 68266-1 ¢ 20 PP HO.7 Hx@E
NO b4,/ 3i#s -~k B g HAL EHEKX
1 AR — MR L N Tol-1
g 1.000 m
2 FEET—b R T=1=1
150mm X 50m,// % 25 Hr0IAF» J= 1.000 m
3 GHEERREINT T AT 7 VM SHAEY) W T =525 0T B B« ARSI B =1%2+0
15emPL T )= 2.000 m
4 BEFRI5IRAL SRS T 7K AL B = (Bl S AE 4 I+ AR+ I BRD) *0. 023%
& 0.002 m3 &hIEE=(1%2+0)*0. 023%0. 04
5 AHLEAREUELURDA BHO0.20m3 AEERE A T =1 BB + T A N =1%0. 6+0
AAEIE 1 0cm LA T Vs 0.600 m2
6 ERLERNEUELAA BHO0.20m3 SRR A T =1 BexlE + I AN H =10, 6+0
EAEE10emLA T B 0.600 m2
7 EIKHEEI] BHO0.20m3 PR THI=AE Fexg*i=1%0. 6%0. 79
)= 0.474 m3
8 BB (FEhE I ) BHO.20m3 R TUL=4E Forfigs4e=1%0. 60, 43
Tyiay AR g 0.258 m3
9 EEME (B R) BH0.20m3 M B T U2=%E Rl #2=1%0. 6%0. 21
RC-40# & + & 7 5 [E g 0.126 m3
10 B R (kg ) BHO0.20m3 PR T.U4=FE B+ *%E=1%0. 6%0. 16
M-30 & + & > 7 S [E o g 0.096 m3
11 EEERE R R) BH0.20m3 PR RZERR CHTRR &) =4 o8 W F=— 1 1%0. 001
Iyioay R LR )= -0.001 m3
12 FEREEIEMAIL As JFERA AL G5 (B HIER) =Rl A i F+ 5 X =0. 6%0. 04
)= 0.024 m3
13 ERRBEFEMALEL As BEA ALy (B 1) =Rl ii FEe /R X =0. 6%0. 03
)= 0.018 m3
14 PEREALEEIERE BH0.20m3 DTr4t BERE M (PR HIED) =i i A+ 2 X =0. 6%0. 04
AsHi - CoBfl (M%) 4.5km L B DID M J= 0.024 m3
15 PEREALFLEME BH0.20m3 DTr4t BEAA T (AE 1) =Rl Fe /R X =0. 6%0. 03
AsHll - Codifl (%) 4.5km A T DID4E & 0.018 m3
16 &4 5@ BHO0.20m3 DTrdt T B R=H1 45 +H2 45+ T4 45 (B HR ) — 5574 =0. 47
+4#5 10.0kmLL F DID%E B 0.474 m3 4+0+0+00
17 & T (E) 3eml & A B =AE S E + I AR N =1%0. 6+0
BRI EAs 74N )= 0.600 m2
18  EEET (B4E) 4eml)E ARAE |H=FE FoHlg + A N F=1%0. 6+0
HEBRIEAs 7 T745 P 0.600 m2




T TEHEEARE

(FHT-11) EKREMRELE (R7)

BEAR 1 AR KB AR T

XIHl 11002 68266-2 ¢ 20 PP HO.6 HijH

NO b4,/ 3i#s -~k B g HAL EHEKX
1 HERR —MAR T AR T=1=4. 1
B 4,100 m
2 BEEERT—h R T=1=4. 1
150mm X 50m,// % 25 Hr0IAF» J= 4.100 m
3 GHEERREINT T AT 7 VM SRAEY) B =545 AT B PR H S« AR BN =4, 1%2+0
15emPL T )= 8.200 m
4 BEFRI5IRAL SRS T 7K AL B = (BlEEAE 40 I+ AR+ I BRD) *0. 023%
& 0.009 m3 EHEEE=(4. 1%2+0)*0. 023*0. 05
5 AHLEAREUELURDA BHO0.20m3 AEERE A T =1 BB+ I A NS =4. 1%0. 6+0
AAEIE 1 0cm LA T Vs 2.460 m2
6 ERLERNEUELAA BHO0.20m3 SREERE A T =1 BexlE + I AN =4. 1%0. 6+0
EAEE10emLA T B 2.460 m2
7 EIKHEEI] BHO0.20m3 PE | THI=2E F#ig+%E=4. 1%0. 6%0. 68
)= 1.673 m3
8 BB (FEhE I ) BHO.20m3 R TUL=E Rexfi@xifi=4. 1%0. 6%0. 43
Tyiay AR g 1.058 m3
9 EEME (B R) BH0.20m3 H B T U2=4E FsgiE=4. 1%0. 6%0. 1
RC-40# & + & 7 5 [E g 0.246 m3
10 B R (kg ) BHO0.20m3 PR TUA=FE Fo*IE*E=4. 1%0. 6%0. 17
M-30 & + & > 7 S [E o g 0.418 m3
11 EEERE R R) BH0.20m3 PR RAZERR CHTRR &) =4 Fox & Wi f=—1%4. 1%0. 001
Iyay R )= -0.004 m3
12 EERBEEMALE As BEM AL AS (HREIES) =R i f 5 X =2. 46%0. 05
)= 0.123 m3
13 ERRBEFEMALEL As BER L5y (A 1H) =ik FE+ IR X =2. 46%0. 03
)= 0.074 m3
14 PEREALEEIERE BH0.20m3 DTr4t BERTE My (PR HIER) =i A+ R X =2. 46%0. 05
AsHi - CoBfl (M%) 4.5km L B DID M J= 0.123 m3
15 PEREALFLEME BH0.20m3 DTr4t BER T (AE 1H) =R R+ IR X =2. 46%0. 03
AsHll - Codifl (%) 4.5km A T DID4E & 0.074 m3
16 &4 5@ BHO0.20m3 DTrdt T B R=H1 45 +H2 45+ T4 45 (B +A ) 5% =1. 67
+4#5 10.0kmLL F DID%E B 1.673 m3 3+0+0+00
17 ST (HEE-#E)3cnl /@ IS IH=JE F* g+ A I =4, 1%0. 6+0
BRI EAs I )= 2.460 m2
18 Ei%ET (HIE-HJE)Senl)E ARE IH=E F+ g+ EFE N =4, 1%0. 6+0
HEBRIEAs 7 T745 P 2.460 m2




T TEHEEARE

(FH-11) EKREMBEBELE (K7)
B 1 R EARR L

X[A 11003 68266-3 “EMNCo HO.5

NO b4,/ 3i#s -~k B g HAL EHEKX
1 EEERRGINT v Y- MEREERR LGN T=IE B+ ARE+INB=1. 5%2+0. 5
15ecmPL T )= 3.500 m
2 BRI IRAL SRR T 7K AL B = (BlEEAE 4 I+ AL+ I BRD) *0. 023%
5 0.008 m3 &EfiZEE=(1.5%2+0.5)*0. 023%0. 1
3 AEEERRAAE U r)-MEEERR PR AEERE A T =1 BB+ I AN =1. 5%0. 5+0
BEXEVABE 15emPL T g 0.750 m2
4 FRYEY T BUGHIKHY JEHE TH1=JE Fexg+E=1. 5%0. 5%0. 4
A B 0.300 m3
5 HWRL BGH™HY L PR B TUI=AEE+lEs%E=1. 5%0. 5%0. 4
FRE O ML b 0.300 m3
6 HEREL BGHHY b PR PERR GOk ) =4 K+ Wi Ff=—1%1. 5%0. 001
G O HEL D -0.002 m3
7 BEEREEIEMALEE MEHiCo BEAA ALy (PR EIER) =AleA i F 5 & =0. 75%0. 1
)= 0.075 m3
8 PEFENLFYEH: BHO0.20m3 DTr4t BERE My (RS =l s+ < =0. 75%0. 1
AsHi - CoBfl (M%) 4.5km L B DIDfE J= 0.075 m3




T TEHEEARE

(FHT-11) EKREMRELE (R7)

BEAR 1 AR KB AR T

XM 12001 117761-1 ¢40 SSP HI.1 #AAE
NO b4,/ 3i#s -~k B g HAL EHEKX
1 RVZFLAE AT UL AE Paft T fiigx T=L=0. 8
6 40 )= 0.800 m
2 B —MiRT HHRLA0.8
)= 0.800 m
3 R —b IR T=1=0. 8
150mm X 50m & 262410 iA Fx b= 0.800 m
4 EHIERRUINT T AT 7 VMRS SRS T T =E 2 4 R PR AR B N B =0. 8%2+0
15emPL T B 1.600 m
5 BEERIGIRAL AL TR K AL BR= (Bl EEAE B I+ AL+ IR *0. 023%
b 0.001 m3 EHEEE=(0. 8%2+0)*0. 023%0. 04
6 ERLERNEUELAA BHO0.20m3 SRR A T =1 BexE + I AN =0. 8%0. 6+0
EAEE10emLA T B 0.480 m2
7 AREEAREUELURDA BHO0.20m3 AEERE A T = BB + I AN E=0. 8%0. 6+0
AAEIE 1 0cm LA T Vs 0.480 m2
8 FIHEHI BHO0.20m3 1] T H1=4EF B *E=0. 8%0. 6%1. 21
)= 0.581 m3
9 EEME (B RE) BH0.20m3 H B TU1=4E Ee 5% ZE=0. 8%0. 6%0. 45
Iioay R LR )= 0.216 m3
10 B R (kg ) BHO0.20m3 PR TU2=4E Fxg#i%E=0. 8%0. 60. 61
RC-40H R + & o\ [ 6D Ve 0.293 m3
11 BB E (M E) BH0.20m3 PR T U4=JE Re* gk 38=0. 8%0. 6%0. 16
M-30HR R + &/ [ o g 0.077 m3
12 B R (kg ) BHO0.20m3 B PERR GOk &) =4 5+ W F=—1%0. 8%0. 001
Iyioay bR g -0.001 m3
13 ERRBEFEMALEL As BER L5y (BRI =i FE+ /R X =0. 48%0. 04
)= 0.019 m3
14 FERFEEMLI As BER LSy (A5 1B) =i FEe 5 X =0. 48%0. 03
)= 0.014 m3
15 PEREALFLEME BH0.20m3 DTr4t BERA T (BE 10 =i R /R X =0. 48%0. 04
AsHll - Codifl (%) 4.5km A T DID4E & 0.019 m3
16 PFEREALEEM: BH0.20m3 DTr4t BERA T (15 1) =il A FEe 5 X =0. 48%0. 03
AsHi - CoBfl (M%) 4.5km L B DID M J= 0.014 m3
17  F/AE+5EME BHO0.20m3 DTr4t 7 1T R=H1 53 +H2 53 ik TR 4y (IS +ll m) — #5485 =0. 58
18> 10.0kmLLF DIDE A 0.581 m3 1+0+0+00
18  EEET (B4E)3cml)E A8 IH=FE K+ g+ E AR N 5=0. 8%0. 6+0
HEBRIEAs 7 T745 P 0.480 m2
19 &2 T (E) dem L E AAE IH=IE F* g+ A I 5H=0. 8%0. 6+0
BRI EAs I )= 0.480 m2




T TEHEEARE

(FHT-11) EKREMRELE (R7)

BEAR 1 AR KB AR T

10

XM 12002 117761-2 ¢40 SSP HO.7 ®HiE
NO b4,/ 3i#s -~k B g HAL EHEKX
1 RNIZFLUE ATV AHE BT figg 1=1=9. 8
6 40 )= 9.800 m
2 IR —MiR T EHRT=1-9.8
)= 9.800 m
3 AT —b AR T=1=9. 8
150mm X 50m & 262410 iA Fx b= 9.800 m
4 EREERREIMET T AT 7 VMR SRS T T =E 2 4 R PR AR B N B =9. 8%2+0
15cmEA T g 19.600 m
5 BEERIGIRAL AL TR K AL Bl = (B EEAE B I+ A+ IR *0. 023%
b 0.023 m3 EHEEE=(9. 8%2+0)*0. 023%0. 05
6 EHESARIBUELAGA BHO.20m3 Bl R T =3 S+ ARG =9. 8%0. 640
ST 10em AT = 5.880 m2
7 REERUREELALA BHO.20m3 SRR T=HE S+ AR AN 5=0. 8%0. 6+0
AAEIE 1 0cm LA T Vs 5.880 m2
8 FIHEHI BHO0.20m3 P T H1=4E -+ IE*E=9. 8%0. 6%0. 8
)= 4.704 m3
9 EEME (B RE) BH0.20m3 H B TU1=4E E*E*ZE=9. 8%0. 6%0. 45
Iyay R ER g 2.646 m3
10 B R (kg ) BHO0.20m3 R TU2=FE K+ E+{E=9. 8%0. 6%0. 2
RC-40H R + & o\ [ 6D Ve 1.176 m3
11 BB E (M E) BH0.20m3 PR T U4=JE Rex gk 78=9. 8*%0. 6%0. 17
M-30H & + &> i [E 6 g 1.000 m3
12 EEEHE R (WMUE ) BHO0.20m3 B PERR GOk &) =4 5+ Wi F=—1%9. 8%0. 001
Ivay R A -0.010 m3
13 FEFRPEEMLIE As BERF ALy (BEHIS) = Ak i A+ X =5. 88*0. 05
)= 0.294 m3
14 FERFEEMLI As BER LSy (A5 1) =k FE+ /5. X =5. 88%0. 03
)= 0.176 m3
15 PEREALFLEME BH0.20m3 DTr4t BERA T (BE 130 = A i R+ /5 X =56. 88%0. 05
AsHll - Codifl (%) 4.5km A T DID4E & 0.294 m3
16 PFEREALEEM: BH0.20m3 DTr4t BERA T (15 1) =l A4 i FE+ /5. X =5. 88%0. 03
AsHi - CoBfl (M%) 4.5km L B DID M J= 0.176 m3
17  F/AE+5EME BHO0.20m3 DTr4t 7 - TEHR=H1 53 +H2 53 ik TR 4y (IS +llm) — i 548 =4. 70
18> 10.0kmLLF DIDE A 4.704 m3 4+0+0+00
18 Ei¥ET (HE-HJE)3cnl)E IAE IH=E F+ g+ E AR N 5=9. 8%0. 6+0
HEBRIEAs 7 T745 P 5.880 m2
19 &h%ET (HEE-¥E)5eml /& A IH=IE F* g+ A I H=9. 8%0. 6+0
FAEBRIEAs 744 )= 5.880 m2




T TEHEEARE

(FH-11) EKREMBEBELE (K7)
B 1 R EARR L

X[A 12003 117761-3 “EWNAs HO.5

11

NO b4,/ 3i#s -~k B g HAL EHEKX
1 RNIZFLUE ATV AHE BT figg L=L=1.5
6 40 )= 1.500 m
2 EHIERRUINT T AT 7 VMR R SRR T T =Hl 2 4 R R AR B N B =1, 5%2+0
15emPL T B 3.000 m
3 BEERIGIRAL AL TR K AL BR= (Bl EEAE B4 I+ AL+ IR *0. 023%
b 0.003 m3 EHEE=(1.5%2+0)*0. 023%0. 04
4 EREERNEUELAA BHO0.20m3 SRR A T =1E BexlE+ AN F=1. 5%0. 6+0
EEEE 10em L T b 0.900 m2
5 AHLEAREUELURDA BHO0.20m3 AEERE A T =1 BB+ I A NS =1. 5%0. 6+0
SEE 1 0em L T 2 0.900 m2
6 RIEL b BLGHIKHY JEHE] TH1=JE F*g*R=1. 5%0. 6%0. 46
A B 0.414 m3
7 ERRMLRE (BT R) BHO0.20m3 PR TUI=E FexlE+i8=1. 5%0. 6x0. 47
FEA B 4 B SBR[ D & 0.423 m3
8 B (FhE I ) BHO.20m3 PR B PERR GOk ) =1 K+ Wi F=—1%1. 5%0. 001
FEA B 4 B S D Ve -0.002 m3
9 EFRBEFEWALIE As . BEAA ALy (R HIED) =Rl i Rk X =0. 9%0. 04
g 0.036 m3
10 FERFETEMLH As BER LSy (A5 1E) =Rl Rk IR X =0. 9%0. 03
)= 0.027 m3
11 PEREALFLEME BHO0.20m3 DTr4t BERA T (BRI =R e R+ /R X =0. 9%0. 04
AsHil - Codifl (%) 4.5km A T DID4E & 0.036 m3
12 PEREALEEIERE BH0.20m3 DTr4t BERTE M (A5 1H) =i i+ < =0. 9%0. 03
AsHi - CoBfl (M%) 4.5km L B DIDfE J= 0.027 m3
13 F/AE+5EME BHO0.20m3 DTr4t 7 1T R=H1 53 +H2 53 HiE T AR 40 (IS +l ) — 1 545 =0. 41
+# 10.0kmPL T DIDE g 0.414 m3 4+0+0+00
14 EET (B3E)3cml)E IAE IH=E F+ g+ E A I =1, 5%0. 6+0
HEBRIEAs 7 T74L P 0.900 m2
15 & T (HE) dem L E AAE IH=IE F* g+ I H=1. 5%0. 6+0
FAEBRIEAs 744 )= 0.900 m2




T TEHEEARE

(FHT-11) EKREMRELE (R7)

BEAR 1 AR KB AR T

12

XM 13001 68152-1 ¢25 PP Hl.1 A
NO b4,/ 3i#s -~k B g HAL EHEKX
1 HERR —MAR T AR T=1=0. 8
g 0.800 m
2 FEET—b R T=1=0. 8
150mm X 50m,// % 25 Hr0IAF» J= 0.800 m
3 GHEERREINT T AT 7 VM SRAEY) B T =545 AT B PR H S« AR BN =0, 8%2+0
15emPL T )= 1.600 m
4 BEFRI5IRAL SRS T 7K AL B = (BlEEAE 4 I+ AL+ I BRD) *0. 023%
& 0.001 m3 &HEEE=(0. 8%2+0)*0. 023%0. 04
5 AHLEAREUELURDA BHO0.20m3 AREERE A T =1 BB + I AN 5E=0. 8%0. 6+0
AAEIE 1 0cm LA T Vs 0.480 m2
6 ERLERNEUELAA BHO0.20m3 SRR A T =1 BexE + I AN =0. 8%0. 6+0
EAEE10emLA T B 0.480 m2
7 EIKHEEI] BHO0.20m3 PE | THI=E K+l +%=0. 8%0. 6%1. 19
)= 0.571 m3
8 BB (FEhE I ) BHO.20m3 R TUL=4E Rexfig*42=0. 8%0. 6%0. 43
Tyiay AR g 0.206 m3
9 EEME (B R) BH0.20m3 H B T U2=4E Fsilig2=0. 8%0. 6%0. 61
RC-40# & + & 7 5 [E g 0.293 m3
10 B R (kg ) BHO0.20m3 R TUA=E R+ IE*4E=0. 8%0. 6%0. 16
M-30 & + & > 7 S [E o g 0.077 m3
11 EEERE R R) BH0.20m3 PR RAZERR CHTRR &) =4 Fox & W i F=—1%0. 8%0. 001
Iyioay R LR )= -0.001 m3
12 FEREEIEMAIL As BERA LSy (BEHITD) =Rk A i Rk /5 X =0. 48%0. 04
)= 0.019 m3
13 ERRBEFEMALEL As BER L5y (A 1H) =il FE+ /5 X =0. 48%0. 03
)= 0.014 m3
14 PEREALEEIERE BH0.20m3 DTr4t BEMA TE R (PR ANER) =T A= < =0. 48%0. 04
AsHi - CoBfl (M%) 4.5km L B DID M J= 0.019 m3
15 PEREALFLEME BH0.20m3 DTr4t BERS T (AE 1H) =i A FE+ /R X =0. 48%0. 03
AsHll - Codifl (%) 4.5km A T DID4E & 0.014 m3
16 &4 5@ BHO0.20m3 DTrdt T B R=I1 45 +H2 45+ T4 45 (B +R ) i 557%=0. 57
+4#5 10.0kmLL F DID%E 2 0.571 m3 1+0+0+00
17 & T (E) 3eml & IS IH =4 F* g+ i A I =0, 8%0. 6+0
BRI EAs 74N )= 0.480 m2
18  EEET (B4E) 4eml)E ARAE IH=4E K+ g+ EFE N 5 =0. 8%0. 6+0
HEBRIEAs 7 T745 P 0.480 m2




T TEHEEARE

(FHT-11) EKREMRELE (R7)

BEAR 1 AR KB AR T

13

XM 13002 68152-2 $25 PP HO.7 Hj&
NO b4,/ 3i#s -~k B g HAL EHEKX
1 HERR —MAR T AR T=1=7.3
g 7.300 m
2 FEET—b IR T=1=7.3
150mm X 50m,// % 25 Hr0IAF» J= 7.300 m
3 GHEERREINT T AT 7 VM ST T =2 A = R R A N =T, 3%2+0
15emPL T )= 14.600 m
4 BEFRI5IRAL SRS T 7K AL B = (Bl S AE 4 I+ AL+ I BRD) *0. 023%
& 0.017 m3 &HEEE=(7. 3%2+0) *0. 023*0. 05
5 AHLEAREUELURDA BHO0.20m3 AEERE A T =1 BB+ I AN =7. 3%0. 6+0
AAEIE 1 0cm LA T Vs 4.380 m2
6 ERLERNEUELAA BHO0.20m3 SRR A T =1 BexlE + I AN F=7. 3%0. 6+0
EAEE10emLA T B 4.380 m2
7 EWIEE] BHO0.20m3 PE | THI=2E R+ ig+%8=7. 3%0. 6%0. 78
)= 3.416 m3
8 BB (FEhE I ) BHO.20m3 R TUL=4E Rexfig+42=7. 3%0. 6%0. 43
Tyiay AR g 1.883 m3
9 EEME (B R) BH0.20m3 P 5 T U2=4E o sliFsiZe="7. 3%0. 6%0. 2
RC-40# & + & 7 5 [E g 0.876 m3
10 B R (kg ) BHO0.20m3 PR TUA=FE R+ IEHE=T. 3%0. 6%0. 17
M-308 & + & o7 S [E D g 0.745 m3
11 EEERE R R) BH0.20m3 R BPERR GHTRR ) =1L =+ Wi fE=—1%7. 3%0. 001
Iyioay R LR )= -0.007 m3
12 FEREEIEMAIL As BERA LSy (BEHIFR) =il A Fe 5 X =4. 38%0. 05
)= 0.219 m3
13 ERRBEFEMALEL As BER L5y (A 1H) =i FE+ R X =4. 38%0. 03
)= 0.131 m3
14 PEREALEEIERE BH0.20m3 DTr4t BERA T (PR IR =l A FEe 5 X =4. 38%0. 05
AsHi - CoBfl (M%) 4.5km L B DID M J= 0.219 m3
15 PEREALFLEME BH0.20m3 DTr4t BER T (AE 1H) =i R+ IR X =4. 38%0. 03
AsHll - Codifl (%) 4.5km A T DID4E & 0.131 m3
16 &4 5@ BHO0.20m3 DTrdt T 1 ER=H1 45 +H2 45+ 40 45 (B +RI ) — i 5=7%=3. 41
+4#5 10.0kmLL F DID%E B 3.416 m3 6+0+0+00
17 ST (HEE-#E)3cnl /@ A IH=JE F* g+ AR I =7, 3%0. 6+0
BRI EAs I )= 4,380 m2
18 Ei%ET (HIE-HJE)Senl)E AR IH=E S+ g+ EFE N BR=T7. 3%0. 6+0
HEBRIEAs 7 T745 P 4.380 m2




T TEHEEARE

(FHT-11) EKREMRELE (R7)

BEAR 1 AR KB AR T

14 H

XfH 13003 68152-3 ¢$25 PP HO.7 #JECo
NO b4,/ 3i#s -~k B g HAL EHEKX
1 FERR —Misk T BHAR T=1=3. 4
g 3.400 m
2 FEET—b EHR T=1=3. 4
150mm X 50m,// % 25 Hr0IAF» J= 3.400 m
3 AEEERRUINT 2v 7Y —MERR LW T=IE B ARELHINEE=3. 4%2+0
15emPL T )= 6.800 m
4 BEFRI5IRAL SRS T 7K AL B = (BlEEAE 40 I+ AL+ I BRD) *0. 023%
& 0.016 m3 &HEEE=(3. 4%2+0)*0. 023%0. 1
5 EREERRMEAR o0V -MESERR REEAEMEL AREERE A T =1 BB + I AN =3. 4%0. 6+0
BEXEVABE 15emPL T B 2.040 m2
6 ‘FIHEE] BHO0.20m3 JEHI THI=ZE ExE*E=3. 4%0. 6%0. 73
)= 1.489 m3
7 ERIERE (B ) BHO.20m3 P B T U1 =4E Ee g ZE=3. 4%0. 6%0. 43
Iioay R LR )= 0.877 m3
8 BB (Fhg I ) BHO.20m3 MR TU2=4E e *{4e=3. 4%0. 6%0. 15
RC-40H R + & o\ [ 6D Ve 0.306 m3
9 EEME (B R) BH0.20m3 H B T UA=4E Ee g ZE=3. 4%0. 6%0. 15
M-30H & + &> i [E 6 g 0.306 m3
10 B R (kg ) BHO0.20m3 B PERR GOk &) =4 5+ Wi F=—1%3. 4%0. 001
Iyioay bR g -0.003 m3
11 B EEEEMLEE S Co BERA A5 (Bl IS ) = Ak i e S S =2. 040, 1
)= 0.204 m3
12 PEREALEEIERE BH0.20m3 DTr4t BERE My (RS =i A+ <=2, 04%0. 1
AsHi - CoBfl (M%) 4.5km L B DIDfE J= 0.204 m3
13 F/AE+5EME BHO0.20m3 DTr4t B 1T R=H1 53 +H2 53 ik TR 4y (IS +lm) - B4 =1. 48
18> 10.0kmLLF DIDE g 1.489 m3 9+0+0+00




T TEHEEARE

(FH-11) EKREMBEBELE (K7)
B 1 R EARR L

X[A 13004 68152-4 “ENCo HO.5

15 H

NO b4,/ 3i#s -~k B g HAL EHEKX
1 EEERRGINT v Y- MEREERR LGN T=IE B+ ARELHINE=1. 5%2+0
15ecmPL T )= 3.000 m
2 BRI IRAL SRR T 7K AL B = (BlEEAE 4 I+ AL+ I BRD) *0. 023%
& 0.007 m3 &HEEE=(1.5%2+0)*0. 023*0. 1
3 GEERRANAE v - MEERR BEESMEL AEERE A T =1 BB+ I AN =1. 5%0. 5+0
BRI 42 15emPL T B 0.750 m2
4 FRYEY T BUGHIKHY JEHE TH1=JE Fexg+E=1. 5%0. 5%0. 4
A B 0.300 m3
5 HWRL BGH™HY L PR B TUI=AEE+lEs%E=1. 5%0. 5%0. 4
FRE O ML b 0.300 m3
6 HEREL BGHHY b PR PERR GOk ) =4 K+ Wi Ff=—1%1. 5%0. 001
fri[E O ML D -0.002 m3
7 BEEREEIEMALEE MEHiCo BEAA ALy (PR EIER) =AleA i F 5 & =0. 75%0. 1
)= 0.075 m3
8 PEFENLFYEH: BHO0.20m3 DTr4t BERE My (RS =l s+ < =0. 75%0. 1
AsHi - CoBfl (M%) 4.5km L B DIDfE J= 0.075 m3




